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Annual Temperature (*C) Anomaly for Antigua
(1981 -2010 Baseline)
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Annual Rainfall Anomaly - Antigua
(1981 -2010 Baseline)
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Physical Planning
Act (2003)

Development
Control Authority
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This Act outlines the regulatory functions of the
DCA as pertains to development application
review and approval; development surveillance
and development control.

The act also gives the DCA the powers to
develop Local Area Plans as a means of
guiding and advising development activities.
The act also recognises certain categories of
land as needing additional development control
measures.

Draft regulations are currently being drafted for
this act.

Crown Lands Act
(1917) and Land

Lands Division

Planning and allocation of government lands for
residential, agricultural and other land use
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Settlement
Regulations(1952)

purposes including land reclamation, the
management of water bodies and to take the
appropriate action for forest conservation;
administration of Government of Antigua and
Barbuda land leases and rentals.

Regulations have been prescribed to assess
watershed management.  Since a little less
than half of the land in Antigua and Barbuda is
government-owned, this Division has a key role
in determining the conversion of land to non-
agricultural use.

St. John[s
Development
Corporation

St. John[s
Development
Corporation Act
(1986)

Upgrading of downtown St. John[s through
urban renewal and implementation of other
development projects.

This Act empowers the Corporation to initiate
development without reference to any national
development plans.

National Parks

National Parks

Development and management (including

Authority Act (1985) development Control) of national parks
Antigua & Port Authority Act | Development and management of lands at any
Barbuda Port (1989) harbour owned and operated by the

Authority Government of Antigua and Barbuda.

Central Housing | Slum Clearance At one time CHAPA functioned as

& Planning and Housing Act | Government(s primary residential land
Authority (1948) allocation agency, but some of its functions
(CHAPA) have been assumed by the Lands Division,

Ministry of Agriculture;

Implementation of low income housing
schemes.

Department of Antigua and Like the St. John(S Development Corporation,
Agriculture Barbuda the Agricultural Development Corporation is
(Extension Agricultural authorized under this statute to conduct
Division) Development development activities outside of the
Corporation Act requirements of any national development
(1978) plans. The effect of this power can operate to
compromise the successful implementation of
Physical Planning Act (2003)
The Cabinet Land Acquisition | The Cabinet with the approval of the

Act (1982)

Legislature has the authority to acquire land for
public purposes. The public purpose for which
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the land is required must be determined by the
Cabinet.

Central Board of
Health

Burial Ground Act
(1926)

This Act determines the areas which may be
used for the purposes of burial.

Public Works Public Works and | This Act requires the classification of road and
Department Road Act (1981) establishment of widths corresponding to each
class. The Act gives the Governor General a
wide discretion to declare and declassify road
and empowers the Surveyor to make temporary
roads over any land as is convenient.
Beach Protection | This act vests regulatory responsibility in the
Act (1957 & 1993) | Ministry of Public Works to control and manage
the mining of aggregates from beaches.
Forestry Forestry Act This Act establishes the power to declare forest
Department (1941) and reserves on State lands and requires forest

Regulations (1941
& 1952)

reserves to be acquired by the State. The
Governor General is empowered to make
regulations in respect of specified matters,
including the management of protected forests
and forest reserves. The Act authorizes the
Chief Forest Officer to prepare a national forest
plan.

Soil and Water

This unit has responsibility for soil conservation

Conservation activities within the Ministry of Agriculture. It
Unit also assists farmers with the development of
irrigation systems and in improving drainage.
The Unit is currently without staff.
Agriculture Barbuda Local This Act requires the local authority to
Committee Government Act administer forestry services in Barbuda and

(1976)

subordinate legislation established thereunder
regulates the cutting of timber in the locality.

Bush Fires Act
(1901)

This Act establishes an offence regime
regarding bush fires.

Water Division

Public Utilities Act
(2973)

Watercourses and
Waterworks
Regulations (1954
and 1961)

This Act requires the Authority to supply
potable water supplies and empowers the
Minister to make regulations for the protection
of watercourses and catchment areas.
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These regulations prescribe methods for the
extraction of water to protect against
contamination

Fisheries
Division

Fisheries Act
(1983)

Under Part Il of the Act, the Minister may
declare any area of Antigua and Barbuda
waters and as appropriate, any adjacent or
surrounding land, to be a marine reserve where
special protection is considered necessary.

Environment
Division

Environmental
Protection and
Management Act
(2015)

An Act to provide for the management of the
environment within Antigua and Barbuda. The
definition of environment includes the land,
water and atmosphere and plant life.

One of the more relevant features in the act is
the creation a body specifically to manage
watersheds to ensure access for all
stakeholders.

Barbuda Council
(in conjunction
with Barbuda
Planning
Commission)

Barbuda Land Act
(2007)

This act confirms that all lands on the island of
Barbuda are held in commons and managed by
the Barbuda Council. Manage here means
authority to make development plans and issue
leases. The act also prohibits certain activities
without permit.

This act also amends the Physical Planning Act
to allow the Barbuda Planning Commission to
act in place of the DCA for non-major projects.
Major projects require the input of the DCA and
Cabinet.

Land Registry

Registered Land
Act (1975)

The Land Register Division is responsible for
the administration and execution of the Land
Registry functions prescribed by the Registered
Land Act
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Gaynors Collins 32,000
Bendals Bendals 23,000
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Reservoir Drainage Area Spillway Elevation Storage Volume
(ha) (m) (m3)

Potworks 2,430 20.42 4,142,000

Collins 172 11.89 342,000

Wallings 44 150.88 51,680

Fig Tree 72 112.78 2,280

Dunnings 146 30.38 136,040

Brecknocks #1 56 73.15 20,520

Brecknocks #2 48 39.93 76,380

Hamilton 175 46.94 104,120

Body Ponds/Fisher 779 27.43 101,460

[Fiennes

Total 3,922 4,976,480
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